

ASSOCIATION OF NORTH-WESTERN CAR CLUBS SPEED CHAMPIONSHIP 2023							Best 8 scores	Total scores	Cadwell 25/3	Anglesey 1/4	Anglesey 2/4	Anglesey 29/4	Anglesey 30/4	Blyton 13/5	Blyton 14/5	Aintree 27/5	Coventry 3/6	Coventry 4/6	3 Sisters 11/6	Aintree 24/6	3 Sisters 23/7	Curborough 13/8	Snetterton 26/6	Snetterton 27/8	Aintree 2/9	3 Sisters 3/9	Southport 16/9	Anglesey 30/9	Anglesey 1/10	Loton 26/3	Scammonden 14/5	Barbon 10/6	Scammonden 18/6	Loton 8/7	Loton 9/7	Barbon 15/7	Scammonden 30/7	AWARD
OVL	COMPETITOR	CLUB	CAR	Cat	Nov	S/J	Pts	No	1	3	4	5	6	7	8	10	11	12	14	16	20	22	23	24	25	26	27	28	29	2	9	13	15	17	18	19	21	
1	Matt BRAMALL	Longton, Liverpool, BARC	Caterham Super 7 Zetec 1800cc	2			816.01	8	104.66	101.50	(100.83)			(100.41)	(100.28)	(99.40)	(100.00)	101.46	(100.94)	(99.58)	101.56	(100.83)	(95.38)	DNS	(98.56)	(100.28)		101.95	(99.18)			101.87	(99.75)		101.98	101.03	OVERALL CHAMPION	
2	Nigel FOX	Clitheroe	Caterham Super 7 Zetec 1998cc	2		Sen	807.02	8		101.91	101.34	(100.00)	(100.00)	102.02	(99.08)	100.25			100.26		100.22	100.14			(98.12)	(100.03)			(94.43)	(97.58)			100.88	(100.00)		(100.00)	(100.00)	SPRINT & Senior CHAMPION
3	Steve WILSON	Longton	Lotus Elise S2 1796cc	1		Sen	800.01	8		100.01	100.00					(96.98)			100.00	(97.77)	(96.29)			100.00	100.00	100.00	100.00	100.00			(92.73)			100.00	100.00	Category 1 Champion		
4	Peter MESSER	Liverpool, Longton, Clitheroe	Mazda MX5 1998cc	5		Sen	800.00	8						100.00	100.00	100.00			100.00	100.00	100.00				(95.55)	(96.91)					100.00			100.00	100.00	Category S Champion		
4	Dave GOODLAD	Knutsford, Bolton	Renault Clio 172 Cup 1998cc	5		Sen	800.00	8							100.00	100.00			100.00	100.00	100.00	(97.16)			(100.00)	(100.00)				(98.68)	100.00	100.00			100.00	100.00	HILLCLIMB CHAMPION	
6	Chris BOYD	Longton, Liverpool, Westfield	Sylva Riot Bingley Special 1440cc	3		Sen	797.57	8		99.72	98.41				99.52	99.10			100.82	100.00	100.00				(100.00)	(100.00)			(93.33)	(95.12)			100.00				Category 3 Champion	
7	Roger ABBOTT	Longton, Liverpool	Caterham 270R 1598cc	2			793.46	8	100.66	96.99	98.52	100.00	100.00	(92.32)	(91.79)	(94.25)	100.00	100.00	97.29	(95.36)	(94.73)	(93.84)			(95.27)	(95.63)			(88.19)	(92.64)			(96.29)	(92.75)	(96.26)	(95.59)	(94.06)	Category 2 Champion
8	Chris BRAMALL	Longton, Liverpool, BARC	Caterham Super 7 Zetec 1800cc	2			787.62	8	(95.67)	98.68	(94.55)			(95.79)	(95.95)	(97.03)	(93.28)	(94.56)	98.43	97.75	(97.16)	(96.81)	(93.63)	DNS	(96.90)	97.43		(96.36)	(96.77)			99.05	(95.98)	98.11	100.05	98.12	(97.37)	Category 2 Runner-Up
9	Peter HAMLETT	Hagley	Honda Civic Type R EP3 1998cc	3	Nov	Sen	780.27	8		(92.89)	93.58					94.35			98.69	98.32	(87.76)				97.06	100.00		98.27	100.00	(86.87)				(84.97)	(85.18)			Category 3 Runner-up & Novice Champion
10	Peter HOUGHTON	Ilkley, Lancs, HRCR	Morris Mini Mk2 1275cc	1		Sen	774.95	8											100.00							96.90			100.00	95.98	96.12	(90.94)		94.28	91.67	100.00	Category 1 Runner-Up	
11	Jonathan BAINES	Liverpool, Longton, SD34	Renault Clio 200 Cup 1998cc	1			769.35	8			100.00					94.14			(93.67)		94.67	101.16			96.61	96.23		(93.95)	(93.51)			94.26	97.33		(92.84)	96.11		
12	Nigel TRUNDLE	Longton	Mazda MX5 1998cc	1		Sen	694.42	7												101.23	100.00	101.16			100.50											102.13		
13	Harry MOODY	Longton, Liverpool, Wigton	Westfield Megabusa 1440cc	3		Sen	682.75	7	96.13	DNS			(94.46)	95.47	100.00				96.85	NTR	99.00			96.52	98.78						(94.85)							
14	Adam COOPER	Wigan	Ford Escort 1958cc	3	Nov		569.30	6												100.00	91.34			95.27	100.00		92.24	90.45										Novice Runner-Up
15	Michael TINDALE	Liverpool	Mazda MX5 1839cc	1		Sen	438.84	5													88.59	86.24							89.84									
16	Mike LAWSON	Knutsford	Renault Clio RS200 1998cc	5		Sen	398.72	4												99.28				DNS	99.88				100.00								99.56	

OVL	COMPETITOR	CLUB	CAR	Cat	Nov	S/J	Pts	No	1	3	4	5	6	7	8	10	11	12	14	16	20	22	23	24	25	26	27	28	29	2	9	13	15	17	18	19	21	AWARD		
SPRINTS																																								
							Best 8 scores	Total scores	Cadwell 25/3	Anglesey 1/4	Anglesey 2/4	Anglesey 29/4	Anglesey 30/4	Blyton 13/5	Blyton 14/5	Aintree 27/5	Coventry 3/6	Coventry 4/6	3 Sisters 11/6	Aintree 24/6	3 Sisters 23/7	Curborough 13/8	Snetterton 26/8	Snetterton 27/8	Aintree 2/9	3 Sisters 3/9	Southport 16/9	Anglesey 30/9	Anglesey 1/10											
1	Matt BRAMALL	Longton, Liverpool, BARC	Caterham Super 7 Zetec 1800cc	2			813.75	8	104.66	101.50	100.83			(100.41)	(100.28)	(99.40)	(100.00)	101.46	100.94	(99.58)	101.58	100.83	(95.38)		(98.56)	(100.28)		101.95	(99.18)								OVERALL CHAMPION			
2	Nigel FOX	Clitheroe	Caterham Super 7 Zetec 1998cc	2		Sen	806.17	8		101.91	101.34	(100.00)	(100.00)	102.02	(99.08)	100.25			100.26		100.22	100.14			(98.12)	100.03		(94.43)	(97.58)									SPRINT CHAMPION		
3	Steve WILSON	Longton	Lotus Elise S2 1796cc	1		Sen	797.78	8		100.01	100.00					(96.98)			100.00	97.77	(96.29)				100.00	100.00		100.00	100.00											
4	Chris BOYD	Longton, Liverpool, Westfield	Sylva Riot Bingley Special 1440cc	3		Sen	797.57	8		99.72	98.41			99.52	99.10				100.82	100.00	100.00				100.00	(100.00)		(93.33)	(95.12)											
5	Roger ABBOTT	Longton, Liverpool	Caterham 270R 1598cc	2			793.46	8	100.66	96.99	98.52	100.00	100.00	(92.32)	(91.79)	(94.25)	100.00	100.00		97.29	(95.36)	(94.73)	(93.84)			(95.27)	(95.63)		(88.19)	(92.64)										
6	Peter MESSER	Liverpool, Longton, Clitheroe	Mazda MX5 1998cc	5		Sen	792.76	8						100.00	100.00	100.00			100.00	100.00	100.00				95.85	96.91														
7	Peter HAMLETT	Hagley	Honda Civic Type R EP3 1998cc	3	Nov	Sen	780.27	8		(92.89)	93.58					94.35			98.69	98.32	(87.76)							98.27	100.00											
8	Chris BRAMALL	Longton, Liverpool, BARC	Caterham Super 7 Zetec 1800cc	2			780.19	8	(95.67)	98.68	(94.55)			(95.79)	(95.95)	97.03	(93.28)	(94.56)	98.43	97.75	97.16	96.81	(93.63)	DNS	96.90	97.43		(96.36)	(96.77)											
9	Harry MOODY	Longton, Liverpool, Wigton	Westfield Megabusa 1440cc	3		Sen	777.21	8		96.13	DNS			94.46	95.47	100.00			96.85	NTR	99.00				96.52	98.78														
10	Jonathan BAINES	Liverpool, Longton, SD34	Renault Clio 200 Cup 1998cc	1			762.78	8				100.00				94.14			93.67		94.67				96.61	96.23		93.95	93.51											
11	Dave GOODLAD	Knutsford, Bolton	Renault Clio 172 Cup 1998cc	5		Sen	697.16	7								100.00			100.00	100.00	100.00	97.16			100.00	100.00														
12	Adam COOPER	Wigan	Ford Escort 1958cc	3	Nov		569.30	6												100.00	91.34				95.27	100.00		92.24	90.45											
13	Nigel TRUNDLE	Longton	Mazda MX5 1998cc	1		Sen	496.58	5								93.69					101.23	100.00			100.50															
14	David BARROWCLOUGH	Wallasey	TVR Vixen 1600cc	2			294.76	3													95.46							100.10	99.20											
15	David BEECHEY	Liverpool	Peugeot 106 XSi 1360cc	3			294.05	3								100.00									100.00															
16	Clive PLESTED	Liverpool	MG ZR 1398cc	5		Sen	285.86	3								94.02					95.80				96.04															
17	Rob HOLT	Liverpool, Longton	Lotus Elise S2 1800Scc	1		Sen	200.00	2																		100.00														

OVL	COMPETITOR	CLUB	CAR	Cat	Nov	S/J	Pts	No	1	3	4	5	6	7	8	10	11	12	14	16	20	22	23	24	25	26	27	28	29	2	9	13	15	17	18	19	21	AWARD			
17	Paul GORGE	Bolton, Liverpool	Citroën C2 1600cc	S			200.00	2								100.00									100.00																
19	Mike LAWSON	Knutsford	Renault Clio RS200 1998cc	S		Sen	199.16	2												99.28					DNS	99.88															
20	Peter HOUGHTON	Ilkley, Lancs, HRCR	Morris Mini Mk2 1275cc	1		Sen	196.90	2											100.00								96.90														
21	Gareth SHIPLEY	Longton	Lancia Delta Integrale 2000ccT	3		Sen	189.16	2		89.16																															
22	Edward ROBERTS	Knowldale	Triumph Stag	1		Sen	187.39	2																	87.39		100.00														
23	Michael TINDALE	Liverpool	Mazda MX5 1839cc	1		Sen	174.83	2																																	
24	George Philip HOWARTH	Liverpool	MG ZR 1398cc	S		Sen	96.60	1												96.60																					
25	Nick STAFFORD	Ormskirk	Subaru Impreza	3		Sen	79.12	1																																	
26	Duncan WILD	Knutsford, Boundless, HRCR	Volkswagen Golf R	1		Sen	77.61	1																																	
27	Stephen PRICE	Wallasey	Nissan Micra 1275cc	1			0.00	0																																	
27	John CARROLL	Liverpool	Honda Civic Type R EP3 1998cc	3		Sen	0.00	1								0.00																									

OVL	COMPETITOR	CLUB	CAR	Cat	Nov	S/J	Pts	No	1	3	4	5	6	7	8	10	11	12	14	16	20	22	23	24	25	26	27	28	29	2	9	13	15	17	18	19	21	AWARD		
HILLCLI/MBS								Best 5 scores	Total scores																						Loton 2/6/3	Scammonden 14/5	Barbon 10/6	Scammonden 18/6	Loton 8/7	Loton 9/7	Barbon 15/7	Scammonden 30/7		
OVL	COMPETITOR	CLUB	CAR	Cat	Nov	S/J	Pts	No																						2	9	13	15	17	18	19	21			
1	Dave GOODLAD	Knutsford, Bolton	Renault Clio 172 Cup 1998cc	S		Sen	498.68	5																							98.68	100.00	100.00			100.00	100.00			HILLCLIMB CHAMPION
2	Chris BRAMALL	Longton, Liverpool, BARC	Caterham Super 7 Zetec 1800cc	2			492.70	5																									99.05	(95.98)	98.11	100.05	98.12	97.37		
3	Peter HOUGHTON	Ilkley, Lancs, HRCR	Morris Mini Mk2 1275cc	1		Sen	486.38	5																							100.00	95.98	96.12	(90.94)		94.28	(91.67)	100.00		
4	Roger ABBOTT	Longton, Liverpool	Caterham 270R 1598cc	2			474.95	5																									96.29		92.75	96.26	95.59	94.06		
5	Nigel FOX	Clitheroe	Caterham Super 7 Zetec 1998cc	2		Sen	400.88	4																									100.88	100.00			100.00	100.00		
6	Jonathan BAINES	Liverpool, Longton, SD34	Renault Clio 200 Cup 1998cc	1			380.54	4																									94.26	97.33			92.84	96.11		
7	Matt BRAMALL	Longton, Liverpool, BARC	Caterham Super 7 Zetec 1800cc	2			304.88	3																									101.87	99.75			101.98	101.03		
8	Stephen PRICE	Wallasey	Nissan Micra 1275cc	1			291.52	3																								100.00	97.14	94.38						
9	Michael TINDALE	Liverpool	Mazda MX5 1839cc	1		Sen	264.01	3																							86.87	89.84						88.04		
10	Peter HAMLETT	Hagley	Honda Civic Type R EP3 1998cc	3	Nov	Sen	257.02	3																											84.97	85.18				
11	Peter MESSER	Liverpool, Longton, Clitheroe	Mazda MX5 1998cc	S		Sen	200.00	2																									100.00				100.00			
11	George Philip HOWARTH	Liverpool	MG ZR 1398cc	S		Sen	200.00	2																									100.00				100.00			
13	Mike LAWSON	Knutsford	Renault Clio RS200 1998cc	S		Sen	199.56	2																								100.00						99.56		
14	Nigel TRUNDLE	Longton	Mazda MX5 1998cc	1		Sen	197.84	2																									95.71					102.13		
15	Luke POWELL	Huddersfield	Westfield 1650cc	2			195.14	2																										97.19				97.95		
16	Steve WILSON	Longton	Lotus Elise S2 1796cc	1		Sen	192.73	2																									92.73				100.00			
17	Phil HALLINGTON	Wigton	Westfield SE 1700cc	2		Sen	177.94	2																									88.34				89.60			
18	John STONE	Blackpool South Shore	Volkswagen Polo GTI R5 1600ccT	3			102.02	1																																

OVL	COMPETITOR	CLUB	CAR	Cat	Nov	S/J	Pts	No	1	3	4	5	6	7	8	10	11	12	14	16	20	22	23	24	25	26	27	28	29	2	9	13	15	17	18	19	21	AWARD		
19	Chris BOYD	Longton, Liverpool, Westfield	Sylva Riot Bingley Special 1440cc	3		Sen	100.00	1																																
19	Rob HOLT	Liverpool, Longton	Lotus Elise S2 1800Scc	1		Sen	100.00	1																																
19	Ben BRIGGS	Under 17	Nissan Micra 1275cc	1	Nov	Jun	100.00	1																																
22	Harry MOODY	Longton, Liverpool, Wigton	Westfield Megabusa 1440cc	3		Sen	94.85	1																																
23	David BEECHEY	Liverpool	Peugeot 106 XSi 1360cc	3			86.96	1																																